Le Chatelier’s Principle Problems

1. Explain how the given action affects the equilibrium for the following reaction.

SO, (8) + NG, (8) = SO; (8) + NO (8) + heat
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2.Given the reaction at equilibrium : N, (8) + O, (8) = 2 NO (8)

If the temperature remains constant and the pressure increases, the number of moles
of NO(g) will

(A) decrease (B) increase (C) remain the same

Ans:

3. Given the reaction at equilibrium : N, (8) + O, (8) + energy = 2 NO(8)

Which change will result in a decrease in the amount of NO(8) formed ?

(A) decreasing the pressure (B) decreasing the concentration of N, (8)
(C) increasing the concentration of O, (8) (D) increasing the temperature
Ans:

4. What would happen to the position of equilibrium when the following changes are made to
the reaction below?

2 Hg,0 (8) =6 Hg (8 +0,(8) AH = - 25k}/mol
(@) Hg,0 is added to the system

(b) The volume of the system decreases

(c) Temperature is increased
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2.Given the reaction at equilibrium : N, (8) + O, (8) = 2 NO (8)

If the temperature remains constant and the pressure increases, the number of moles
of NO(g) will

(A) decrease (B) increase (C) remain the same

Ans: C

3. Given the reaction at equilibrium : N, (8) + O, (8) + energy = 2 NO(8)

Which change will result in a decrease in the amount of NO(8) formed ?

(A) decreasing the pressure (B) decreasing the concentration of N, (8)
(C) increasing the concentration of O, (8) (D) increasing the temperature
Ans: B

4. What would happen to the position of equilibrium when the following changes are made to
the reaction below?

2 Hg,0 (8) = 6 Hg (8) + O, (8) AH = - 25k)/mol
(@) Hg,0 is added to the system Right
(b) The volume of the system decreases Left
(c) Temperature is increased Left
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